
j. dsqqsoro 9 sJ<6oqolr jSBots qr SoSqnbr<43 gnr4oger<4o;$6 d6gerSob tuSouq6r6n u6tots qs 6Sot Sertt4n?got
bsSStserSbo

3qer3uq2<4o bs<436oruq<6o6t3s

Nt ?og6o b,:33?;r'rl-r p;L;b;q6b.> 6r6'b.
cm0).

6tc'rp. J6o,.
qo6gd.

Sorqo;6o

qot4Xb.

I 2 3 5 6

I
1-80-3 5r4356ob 6.:orbt6; bnqoor tsSs5rqotsgoer $ot Serts$6eollq 100 33 0,015(

?6r.r3olr ro;5sl:s6xo 0.015X206 . /bcn 1 0 (

2

22-30-r3u5sqo$s6oob 0<666oqo ;5'r3<6nlo lot 8er$6erbb D1000 H1000 10 1043 0,030(

?6ce3ob p,:6sbrr4xo 0.03X106 , /bar 3,lt
g]'4-82 3.r/6.rr\re5ob 6r,r.rq"o D:1000 33 ( l .0c
crr4-88 6.r/brr\r 'r6ob {ob do6o D:100044 6noeoLololr ( l ,0(
a6-815 )r.rqo31r63qo drSrqo%Jgoob $ob b2go ( l ,0c
a4-86 6,yo5,:blgo5ol-r 5;publt63ob goq; ( l ,0i

1ib3,: 3;5;l;5xlo 0.03X71.4 tln;16o ) 1 4

bb3u Srbsqgbo 0.03X66.1 q'':(oo 1,98

3;b;qg3ob g615trJrn6go66br 35 3U-'bX t) 1,94

3

t-23-8
to$ob 6scrrtr4r 6jt3ugsger<4oor <4;/bg$er6ob bsSouqS<66 l<<rbot

dobs$8erlsp V=0,1 5 d ztoxo,Olo<o,oa
1000 a3 0,075(

?16re3ob qo;5rb,:16xo 0.0756X60.8 /bar 4,59(

lr6t
4r,11-

121
3jb3s3sgr.r6o B;36ob Srnggqrnls V:0,15 33 ,0.0756X143X1 3i Lor 10,81

librr B,s5;1.:5,rbo 0.0756X6.89 RJ6o 0,52

4
t-80-3 8o$ot 6sortt6.: tnqoor 6erg6o6nb3qo Soqot Sertl$6efiuq 100a3 0A3t

?6r'13ol.r rou6ub;rixo 0.432X206 y'Lar 88.9J

5

30-3-2br6n?ot d.:qo?ot 8q$6obs -330X0,O(0,1 o3 19,800

?6c'r3o1i puSubr6yo 19.8X2.12X1 .y'1r. 41,97(

Lb31 3r5j;5Xbo 19.8X0.10lX1 R.5(eo 2,00(

brdu% bt66?o 19.8X1.1X1 o3
o 21,78(

ol.72 b6.r?ob rlt615bJo6r\o<6,rbo 20 ,1d f)
?? ?5(

6

725-7 <63lbggsrSol, s5s3<6nbo u<6tob 0er$6obs a3 29,44

B16r'r8ol-r p;5.:b;rixo 294X8.4 r/Lror 246,96

cnll-40 r3V1 294X1.28 3/Lcn 37,63
51grr5o1-r q,r$r'r.yo ( )6 t)obXp3oot) xd,dl8 210,0c

4,1-286b;1gm5o200 8 294X0.0102 8/L<n 0,3c
4,1-315jgo"dr-GnSn6golr bt5r6o 100 8 294X0.021 d/ tJ(n 0,62

Lbr; 8r5,.lr5n6o 29.4X0.68 gg'l(oo 1.9,99

Lb3^: SrlisqXbo 29.4X0.88 q';6o 25,87

\ngo5o1-r qugoSSbob g6;5l-rJm6gor6Xbs 60;8-%3 0 7O,56

z I -zz-J
a

ts5'osqgr43 .:t6tot R5tsb63b 63/bngt'r5ob goqSboor bo6t6door 2(
dJ 1,56


